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4p — a + 2et 4 2v. + 26.7MeV (1.1)

O0000000000000000 98.5%000 Proton-Proton chain 0000 00
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0000 11000 1.2000
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L 1
b =2x 0" TR (1.2)
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00000000000000000000 (~26MeV)0000



Luminosity 3.86 x 10%%erg.s~!
Mass(Mg) 1.99 x 10%%g
Radious(Rg) 6.96 x 10'%cm
Age ~ 4.55 x 10%r
Moment of Inertia 7.00 x 10%3gcm
Depth of convective zone 0.26 xR
Central density 148g/cm?
Central temperature 1.56 x 107K
Central hydrigen abundunce 0.340
by mass
Effective surface temperature 5.78 x 10°K
Primordial herium abundunce 0.271
by mass
Primordial ratio of elements 0.0277
to hydrogen mass
Fraction of enerrgy from p-p chain | 0.984
Fraction of enerrgy from CNO cycle | 0.016

0 1.1: Solar parameters
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2

Source | Flux(cm™?sec™)

PP | 6.00 x 10'°(1 4 0.02)
pep | 1.43 x 10%(1 4 0.04)
hep | 1.23 x 103

Be | 4.89 x 10%(1 £ 0.18)
5B | 5.69 x 105(1 + 0.43)
BN ] 4.92 x 10%(1 £ 0.51)
150 | 4.26 x 10%(1 £ 0.58)
TF | 5.39 x 105(1 4 0.48)

0 1.2: Solar neutrino fluxes

1.1.3 OO0Uoooogod

0000000000000 00000RDavisO [2]0000 1968000000000

00000000000000000000000000 2480mO000%C1O0000
000000000000000000 3.8x10°0 C,CL4O000002.2x10°°0 (133ton)
037Cclo0o0oon

000oooo?*clooooon

37C1 + Ve 3T Ar 4 e

0000000000000000000 0814MeV O OOOO®BO0O0000O00O0OO
ODO00SSMOOO Ar000000D00O0O8.0£3.0SNU [1]000OSNU(Solar Neutrino
unit) 0 one neutrino capture/10*target atoms/sec 00000000000 300000

OO0O000000000 23403(le)SNUOCOOOOOOOOCODOODO 1/40000
gbogboobobobobobooboboooo

0019870000000 Kamiokande- 11D OO OOO0OOO0OOOOO0OODOOOOO
0000199004000 10400000000000SSMOOOOOOO 0.46+0.05(stat.)+
0.06(sys.)3| 00000000000 ODODMOCOODOOOOCODODODOOOODD

0000000007 Ga000000000000D000000O00O0O0OO0ODO
oo



00000000000 SAGE4]000DDOD GALLEX[6)0 00O OSAGE O 30ton
000 GaOOGALLEX O 30ton O GaCls-HCIOODOUOOODOOGOOO
1GaOO0OO
TGa+ Ve " Gete

00000000000000000000000000000 0.2332MeV 0 pp 000
O0D0000000000000SAGEOD GALLEX OOODOODODO 587 (sys.) &
14(stat.)SNUD[5] 83 £ 19(sys.) £ 8(tat.)SNU[6] 000D OSSM OO0 OO 13224,SNU[1]
000000000 pp0000000000000000D00000O00D0O00OO0O00
ooooog

1.1.4 0OUO00OOO0OOOO0OMSW OO

Oobo0o0oboooobobo0ooobO0ooOoOooooboOobooOoOoOoboDbOobO0Ono

obOoooOooobOOoooOoOoobobOooboobooooooOooooDoon

ocboooobooooboobOOoooobOOooobOOoOOO0ODOObOO00OO0O0O0bOooODOn
obooo0oooobOooooooooobooboboobOooobOobOooooboOoooDObooo
ocobooooooooooyOO0OO0OO0O0OY.O0y,0,,000000000000000O
OD00000000000O0

oooMswoOOoOOooooooooooooooboboooboooboooOoMSW
00 (Mikheyev-Smirnov-Wofenstein effect) D00 0000000000000 »000O
ooOoooOooooooobooooobOOooOoO0oboOoooobooOOoOobOOoOO0b0ODObDOOn
oo0drOOoOoOO0OOO0OO0ODOOOOOOO0O0ODOy0DO0ODOOOOOOOO0ODOOO0O0OD
ooO0ooo000o0o0oo

ubooooooooboobbobooobobobooboboboooobobooobbOoOoMSW
oboooboo0ooobooooooobOOoo0oooOooooboOoooOoboboOoDOoOoOooo0oon
oobobObbooooobodb240000000000OMSWOOOOOOOODOOOO
00000000000000000000000000D000D007Ga000*0000
0000000000 00000000~ 107500060000 sin?26 ~1072000000
000 (00 a) 000000~ 107%sin?20 ~500000000 (00 b) 000000
oo

gdjddoooooobobobooboob bbb ooboodny 5.0~7.0MeV



gobobodbooboouotboooobboooboobooboooboboobbooD

gboodbooobooobuooobuoboboo
gboMsSwOOooooboooogoo
gogobgoos3sbooooooboboboooboboooboobooobooboon

goboooooobooo200b00o0o
goobooobbobbobobobuoooboo

d v 2 v m? 0
) (p+ ﬁ) ) o[ ™ (1.3)
L 2p vy 0 m

U00n,rp00ddoogdibpboognooon
goooooooon

vy cosf  sind Ve
= (1.4)
Vs —sinf  cosl vy
ooooo 1.30
d V. Af cos26 Ai” cos26 Ve
_ P P (1.5)
dt vy AI; cos26 AI; cos26 vy

0000000000000000000000000Am?0 m3-mi00000000
godboooobooobobooooboboboooonoooboboobobooboo
goobooboobuooboob oo b oobooboooobobbo
gobboboboooboooobobobobobobbboooboobod V:\/ﬁan6
ooboobooboob Gyooooboobobde. 0000000000 00ODODOOO
goon

Am ane Am?
i V. _ S cos26 + 7 e cos26 Ve (1.6)
dt vy AI; cos26 A4—T;2c0520 — G\]}ge vy

googoboboboooo

Vim cosl,, sinb,, V.

Vam —sind,, cosl,, vy



0 14: A:SSMO1000000000000000000000O000DOBOOOO (a)b)DO MSsWOODO
gobogoobobobobobooobooboboobogsbbobboooboobooooouobobooboo
Oo07MevOOOUOoooobobbbOOOO0OOooooooobbOobO0ooooooogbobbooooboooos:
00000000000000000000000 sin*20000 MSWOODOOOO™GaOO0*Cl000
0000000000000 0DO0O00O000O0ODoOOD (%0% C.Lyel0a0000O00OO0OO0ObPOODOODO
gobogooo



goboooooooboooon

sin?26

in*26,, =
i sin?20 + (L, /Lo — cos28)?’

Lo = 27 /V2G ¢n, (1.8)

000 L, =4rp/Am?000000000
O00000000ODDODOO0O00e 00000 DnDOoO0On Ly/Le=cos20 0000
goooobodoooobboooobuobobuobobo
gogbobobobobooobboooo bbb ooobobobobo
gooboobooboboboooooboboobooboboobooooboboboboo
gbooodboboobooboboobo

10



1.2 JO00O00oooooooon

ODO000O00C0D0O0O000D000 (KAMIOKANDE)OODOODOOOODOD
googoobobobooobooobbuobooboboboboooboo

gooboboboobobooobobobobobobbboooobobbbobo
ggoooobboooobobobooooboboobbbobuobobobbobobo
goooooooootoobooobobooboboboboboooboo

JooooboooobboooooooogooboOKAMIOKANDEDOOOOOQOGOGO
O000 Super-KAMIOKANDEODOO (19960 400000000000)O0C0O Super-
KAMIOKANDE O OOOUOODOOODDOODOOODODODOOObOOooooogii2eo 0 200
gooooooooooon

00 Super-KAMIOKANDE OO OUODOODOODODODOOOOOOOOOOOObOOO
0000D0DO0000000DO0000000000DO [1BDooOooDoDDOoDoooDOog
000000000000000%2Rn000.01Bq/m?00000005MeVOOOOO0O
goobboobodooooboobooboboboob oo oboobobobo
uon

Super-KAMIOKANDE OO OOOOOOOOOOO(1.)OOOODODOOOOOOO
gobobooo MSwiooooooooboobooobooboooooboboboooooo
gooooooon

000 KAMIOKANDE-IIIOOOOOMMeVOOODODOOOOODODOOOoOooooono
O00000000000®Ra0000000000000C00O0OOOOOOOOOO
00000000002 #2rn0000000000000000O00000OOOOO0O00
goooouooooooooooooo

goobobobooobooooobbobboboboboboooobboobobo
goboooooobooboboboobodoooobobboooubobboobo
gogoboobooobobooboboooboooobobobobbooooboobobo
goooobotoobooooooobuobooboo

000000000000000%* R 0000000000000O0O0000OO0O0
oo bouobbobubobuoboboboooo

11



1.2.1 OO0U0oobooobooooouoouodgn

KAMIOKANDE-INIOOOOODOOOOOOooOoOoOoooboooobboooooo
ggoboooboobbobbooboobbooboobooboboobuoboobbo
oooooooood MeVOO 10MeVOUOOOOOooooooooooobooog
00000000000 OKAMIOKANDE-IIIOOOOOOO RncubeOOOODODO (O
220)000000D000O00OCDOOOOO0OCDOODOOOOCODODOOOO

1.2.2 OJUO00O0O0OoO0Oooooood

KAMIOKANDE-IIIOOODODODOOOOOoOoOooooobboooooobooogooo
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDQQQRn(t1/2:3.824days)
0000000?MBi000AO (end point energy = 3.26MeV) 000000000000
000000000000000000* R 0000000000000O00O0O0O00O00O0
gooboooboobobobotbobobooboboboobobobbooboobobo
O0000000000000000000000000 Rncube000000O00O222 R0 0
oo oouobooobobooob o

1.3 0O0doogd

1.3.1 OUOoooboooooon

gooboduobobooboboobooobooobobboo

OD000000000000 45MeV(3TmV)O0 3MeV(2ImV)ODOODOOOOO0OO
O (x=0.5,y=-0.3z=0.3)0 Rn cube 00000000000 OOO0DOODOOOOODODO
goooboboooobouooboooboobon

goobobooodooooobooobobobobobboboooobobuobobo
gooooboooooooooboon

1.3.2 OU0U0oooooubooooooonodgn

00000000000 0000000000000%*Rn 000000000000
000000000022 0000000000000000000000DO 200000

12



1.3.2.1 RncubeOOOOOO

0000000000 RncubeOOOOMMeVOODOOOOOOOOODOOOOOOO
OD0000022rRe0000000000000000O00O00O0O0O
1.3.2.2 0O0O0O0OO

ool rn000oboooooobooooboobobuobboooboobooboooon
000000000** R 0000000000000000O00O0

13



] 2 [

oot

2.1 K AMIOKANDE-IITU OO

KAMIOKANDE-IIIOOOODOOOOOOOODOOOOOOOC0DOOO0O0 ¢/n(n=
1.344 00000)000000 (/0000000000 CDODOOO0OOOOOeOO
RN

1

cosf = —

nj
O0O0000ed00O00OC0O0OO0DOODODOO(DODODOOO)ODOODOOOCODOD
00000 (f~H)0O0D00O042°00000000C0C0O000O00ODOODOOOCODODO
000000000000 21(a)p) 000000000000 0OCODO0ODOOOOCODOD
goobobooboboooobbobooboooboboboboobobbboboobog
O0OO00000DO00O0O000OooooOooo 21 (e)(d)D00ooooOoDOODOn
gobodbdbp-e00O0000O0bo0bD0b0oDoobbooobobg 1 ~10MeV OO
OO0 emDOO00O0O00COOOCDOOOOODOOODODODOO 21(e)f)DO0O00OCOODOD
000000bo0boobOyOb0obObO0oobUooog Compton OO0 OoOoOO
googoboooobooobooobuobobbboboboboboouuobUuo

14



0 2.1: KAMIOKANDE-IIIODOOOOOOO

15



go0oooooooooooood
d’N a 1
Jod\ — ﬂﬁ(l_rﬂ—ﬁ?)
N . OO0O
A: 0000
z: 0000oooooooon
a: 0O0O0O0OO
OO0O0OO00O0OKAMIOKANDE-INIOOOOOOOOOOOOOOOOOOO0OOO0OO0O0000O
00700000000 (PMT)00000D0OCOCDOOODOOOCOOKAMIOKANDE-
II10 19900 4000 1100000000000000000 19900 120000000
gooooooooooo

1. 00000000000 googoo pMTOOOOOOODOOOOO
2. 000000000000 0000O000 KEKOOOOooooooooooooo
3. Inner Counter OO OO O00O0O0OO0OOOOOOOOO

googoooooooooo

2.1.1 OO

KAMIOKANDE-IIIOOOODOOODOOOOooooooooooo wwom ooooo
O@romO000C00)00220000000000000D000000CC0O0O0OOOO
0odb 1emO0O0 15.6m0O00 3000ton D00 DOD0O0O0OO0OOOODOOOOOOOO
00do0oo0odooboooouoonogn Anti Counter OO ODDOOODOOOODOOO
0000 00Odd Inner Counter OO 13.1m0O00 14.4m000 2140ton D OO0 OO OO
U0 mUO000000%M70000 1630000 1600000 480x13 00000000
doobdoboboooooooodobdobobobo oo oobooog
bbb oo oDoboood
2140m*000 0

ooodoooooooubod ek0ton DO OO 3.14mO000000000O 2m O
bbb ooodb oo boobooag
doooooooooo

16



0 2.2 KAMIOKANDE-IIIOOOOOOOOOOOO KAMIOKANDE-TOOOOOOOOOODOOOODO
OooooobooobDbboboD Anti Counter OO0 0O0O0O0O0ODOOODOO0O0OO0O0OOOOODDODO
gobogoboooboobooobobooboooboooooobbobboboobooobobo

17



O0000b0ooobouoboobooboobuobboobOong Aati Counter OO O
OO0D0000D0OOAnti Counterd 1220 (00 210000 210000 160x50)00
oot 3smbddooboooouobooooooboooooboboogo
O0D00000o00booobooooboboOon Aati Counter 00O O0OO0OODODOOODO
O0000000O0OAnti Counter D0 O UODDODO0ODO0OOpOOOO vetoOO active
shield DO O0O0O00O0O0DO0O0O0O0O0O0O0OOO0ODOO passive shield DOOOOOOOO
Anti Comnter U0 OO O0DOOD 12md0 00 MI0smO0 00 M2m0 0000 0O0OO0OO
040000000 1/1000000000

2.1.2 20000000000

200000000000 KAMIOKANDEOODDUOODODODODOOOOoOoobboooo
23000000Table 21000000000

640

Photocathode <
33 =2
= ¥ & 3
Focusing
Electrode

023 200000000000000

0000000000 transit time(90nsec) D000 00O O1 photoelectron O 4nsec
O0b00o0o00odooooooooooob 2400 KAMIOKANDE-III OO DODOO
O000 PMTOOOOODOOOOOOODOOOO(3nsec at 1pe.) 0250000000

18



Photo-cathode area 20”7 ¢
Shape Hepispherical
Window material Pylex glass(4~5)

Photo-cathode material  Bialkari

Dynodes 13 stages,Venetian blind
Pressure tolerance 6kg/cm?water proof
Quantum efficiency 22% typical at A=420 nm
Gain 107at ~2000 volt

Dark current 150nA at gain=10"

Dark pulse rate ~3kHz at gain=6 x 10°

Cathode non-uniformity less than 20%

Anode non-uniformity less than 20%

Transit time 90 nsec typical,at gain=107
Transit time spread 4(3)nsec at 1p.e.(new)
Resolution 1.25

After pulse rate less than 0.5% for 1p.e. pulse

Uz21:20000000000000
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Relative Cerenkov Spetrum through Pure Water (%)
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Ratio of resolution
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3.3.2 event selection
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gooboobobodlsmbdbobooooobobooboooooboooobo
Jbooobooo 1thmdbooooo Rncobe 0 000O0O0O0OOOOOODOODOOOOO

gooboooboboobbobobuouooboo

1. 00ooboooooo pMTOOOOO O ODOODODOOOO0OOLOOOOD DOooOoQoo
goob pMTOODOODO 10000000000000O000 pOOO0ODOO0OOOOO

2. 00000000000 20us U0DOO0OUODODO pOODOODOODLOODOODOODO
goo

3. method2(1.2) 00000000000 0O0ODOOOOCODOODOO Ogoodness<0.4 0
ob0 Ny <50000ooon
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2 0 2
Z. distribution

0 3.13: x,y,z distribution for z=4.5 Rn cube
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60
RA3 distribution

O 3.14: r® distribution
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Vertex resolution
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- O resolution at center

<>—0

Hit Number of PMT
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3.4 OO0
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b0 obobobooboboo

1/7 11:08 || thre = 3MeV  OO0O0O (run#4005)
12:31 gboooooonoo
13:13 gb0d 1z0bogoo
14:22 gooogo
14:31 || thre = 3MeV 0000 (run#4006)
17:38 thre = ooog
17:55 || thre = 4.5MeV 0000 (run#4007)

1/8 09:56 thre = gooo
! goooooooooooooo
12:29 || thre = 3MeV 0000 (run#4008)
13:45 thre = ooog
14:10 || thre = 4.5MeV 0000 (run#4009)
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14:36 || thre = 3MeV 0000 (run#4010)
15:10 thre = ooog
! gooogo

U041 00000000ODODO
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(a) trigger thre. 3MeV 5min.
run # oo event rate dead time
4006 | 1/7 14:35 ~  14:40 109Hz 21.197%
4008 | 1/8 12:30 ~ 12:35 93Hz 16.678%
4010 | 1/9 14:40 ~ 14:45 85Hz 16.931%
4003 | 1/5 2047 ~  20:52 37Hz background 7.796%
(b) trigger thre. 4.5MeV 2hrs
run # oo event rate dead time
4007 | 1/7 18:00 ~  20:00 4.41Hz 1.908%
4009 | 1/8 14:30 ~ 16:30 3.61Hz 1.779%
4001 | 1/5 08:31 ~ 11:20 0.96Hz background 1.305%
(c) trigger thre. 4.5MeV
run # oo event rate dead time
4009 | 1/8 14:10 ~ 1/9 14:25 | 3.1 ~ 3.6Hz 1.779%
4001 | 1/5 0831 ~ 1/6 10:26 0.96 Hz background 1.305%
4002 | 1/6 14:51 ~ 1/6 20:41 0.96 Hz background 1.305%
4004 | 1/6 22:56 ~ 1/7 09:56 0.96 Hz background 1.319%
U042 000000O00O0OO
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4.33.1 (a)(b)0DODOO

000000000000000000000%Rn00000000000000O0
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